
 

 

In this diagram, different VLANs are depicted in different color 
codes. Hosts in one VLAN, even if connected on the same Switch 
cannot see or speak to other hosts in different VLANs. VLAN is 
Layer-2 technology which works closely on Ethernet. To route 
packets between two different VLANs a Layer-3 device such as 
Router is required. 

 

 

Computer Network Topologies 

A Network Topology is the arrangement with which computer 
systems or network devices are connected to each other. 
Topologies may define both physical and logical aspect of the 
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As in Bus topology, hub acts as single point of failure. If hub fails, 
connectivity of all hosts to all other hosts fails. Every 
communication between hosts, takes place through only the 
hub.Star topology is not expensive as to connect one more host, 
only one cable is required and configuration is simple. 

Ring Topology 

In ring topology, each host machine connects to exactly two 
other machines, creating a circular network structure. When one 
host tries to communicate or send message to a host which is 
not adjacent to it, the data travels through all intermediate 
hosts. To connect one more host in the existing structure, the 
administrator may need only one more extra cable. 
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The above picture represents an arbitrarily hybrid topology. The 
combining topologies may contain attributes of Star, Ring, Bus, 
and Daisy-chain topologies. Most WANs are connected by means 
of Dual-Ring topology and networks connected to them are 
mostly Star topology networks. Internet is the best example of 
largest Hybrid topology 
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